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M.Sc.
4th Semester Examination (CCAE)
ZOOLOGY
PAPER : ZO0-401.1 & 401.2
Full Marks : 40
Time : 2 hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers
in their own words as fur as practicable.

Mlustrare the ansivers wherever necessary.
SECTION—I
( Z0OO-401.1 )

({ ENVIRONMENTAL POLLUTION & MANAGEMENT )

1. Answer gny two cuestions from the following :
2x2=4
{a) Differentiate pomt pollution from non-point
pollution.
(b) Ditferentiate BOL from COD.
/329
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(c)
()

(2)

Differentiate pollurants from contamnindnts.

Differentiate eco degradation from pollution,

2. Answer any two questions from the foilowing :

(1)

(b)

()

(dj

4x2=8
What are oxvgen demanding wastes?
Briefly outline the scientific principles of
primary and secondary sewage treatment
ProCesses. 1+3=4

What 1s hio-invasion? Briefly elakorate the
chemical reactions leading to form
photochermiical smog, +
What is carbon sequestration? Briefly discuss
the process ol formation of ‘Acid Rain'. 4
What 1s “Green Movement’™ Mention
different steps for achieving the targets of
venture, 4

3. Answer qany one question from the following :

(1)

(bj

/329

8x1=8
Define eutrophicauion. Schematically
highlight different ecological consequences
due to this process. Add a note or Sacred
Giroves’.

2+4+2=8

What is sustainable development? Mention
its different tvpes. What are the different
steps mnvoived in achileving sustainable
development? 2+2+4=8

{ Continued |



(3)
SECTION—II

{ ZOO—401.2 )

{ BIOSTATISTICS )

4. Answer any two questions from the foilowing :

{e?

(b)

(e}

(d)

2x2=4
What do vou mean by frequency

distribution?

Elaborate the tvpes el correlation, with
graphs.

State 1he difference between parametric
and non-parametric tests.

What is skewness? How do vou measure
skewness? 1+1=2

5. Answer any two questions from the {ollowing :

(1)

/329

4x2=8

The mean and the standard deviation of a
sample of size 10 were found te be 9:5 and
2+5 respectively. Later on, an additional
observation became available. This was
15 and was included in the original sample.
Find the mean and standard deviation of
all 11 observations.
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(b}

(¢}

()

/329

(4)
Compute the regression cquation of
calcitonin content (CC) of thyroid gland of
rats on the thyvroxine secretion rate(TAR)
using the following data :

No of rats = 30, Mean CC = 390 mU/gland
(S = 11-00); mean TSR = 1-2ug/100g;
bodv weight (SI8 = 0.04 pg): product moment
r=-0-298, &

It a group of 163 students of Zoology, the
product moment r values between
intelligence test scores [XI]‘ anxiety test
score (x,) and age (v,| were given below :

and ind whether it is
= 2:576). 4

Compute 71,4

significant or not. {Critical U

Lxplain the binomial distribution. State the
expression of binomia! distribution.

2+2=4

{ Continued )



(5)

6. Answer any one quesrion from the following :

(@) (1

()

(b) {1}

/329

8x1=8
A sample of 400 items is taken from a
normal population whose mean is 4 and
whose variance is also 4. If the sample
mean is 445, can the sample be
regarded as trulv random sample?

Put up reasons to justily that the
following statement cannot be true :

(Al Dy =08 and by, =-03

{B) byx =08 andd bxy =24 5+3=8

Find the correlation coefficient
between earthworm density (X) and
soil pH (Y] using the following results
obtained from 15 experiments.

T X =1064, ¥ X' =75595, XL XY = 20584

TY =290, XY’ = 5606
Test whether the above correlation
coefficien is sigaiticant at 5% level.

T =
Given 7yge gy = 210
Foogiy = TS
Toos g = 2179
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(6)
it} Explain clearly the following terms in
connention with testing of
hypothesis

faa) Region of acceptance

() Error of inference S5+11+1'=8

* Ak
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